BFP BC L12: Negative Doubles

A AK1095 Board 1: Dealer North: Love all
vKkaQ3s2 West North East South
+76 14 36 Dbl
*Q3 Pass 4v All Pass @
AQ842 AJ6 3
>
v 3854 v97 South’s double is a negative double, showing the two unbid a
+Q53 ¢ AK10942 suits. North can now bid game in hearts because South must e
%1062 %AJ3 have 10+ HCP to compete at the 3-level. s
oo
A73 )
vAJ106 =
+J8 d
#K8754 a
HCP Makeable contracts e
| ¢ | v |a[NT o
14 N[3|-[a]3]-
4 13 S|13|-[4]3] -
9 Ef-]12]-]-|1
Wl-[2]-]-]1
A 853 Board 2: Dealer East: NS vulnerable
vK875 West North East South
41096 1v 14
+Q64 Dbl Pass 2¢ Pass b4
4A10 4962 2v Pass 3¢ All Pass §
v962 vAQlJ4 8
+QJ75 ¢ AK83 West makes a negative double to show the minor suits and g
+K983 %J10 East can bid diamonds. West has enough points to show he s
AKQJ74 has 3-card support for hearts in case East’s opening bid was a %o
v103 5-card suit, but East denies this by returning to the diamonds. &
*42 =
&A752 2
HCP Makeable contracts a
s|loe|v]|a|NT o
5 N[-[-[-[-]-
10 15 S{-[-[-[-1]-
10 E|l2]5]4]1]2
wl2|5|4a|1]2




BFP BC L12: Negative Doubles

AKQJ743 Board 3: Dealer South: EW vulnerable
v76 West North East South
4872 14
*A8 1v 1a Pass 24 @
4A2 496 Pass 3a Pass a4 35
vAQ984 vK52 All Pass 2
41054 +J963 o
+964 %J1052 North bids his 5-card spade suit rather than using a negative 5
41085 double. With this knowledge South can now support spades. %o
vJ103 North invites game and South with 15 HCPs accepts the &
¢ AKQ invitation. 4
*KQ73 2
HCP Makeable contracts e
| ¢ | v |a[NT )
10 N[2[2]1]4]1
10 5 s{2(2[1]4]1
15 El-|-1-1-]1-
W - - - - -
A KQ1095 Board 4: Dealer West: All vulnerable
v542 West North East South
¢ 1074 le 14 Dbl Pass
*AQ 3v Pass 4ANT Pass b4
4A32 476 S5v Pass 6v All Pass §
vKJ73 vAQ108 8
¢AQJ95 *K2 East’s double indicates the two unbid suits and West shows his | &
*J *K9854 good hand with a jump to 3¥. East can then proceed towards 5
AJ84 a slam using Blackwood. g
v96 S
4863 S
%107632 2
HCP Makeable contracts a
s|loe|v]|a|NT o
11 N[-[-[-[-]-
16 12 S|-]- -
1 E|3]|5]|6(|1]4
W[3|5|[6|1]4




BFP BC L12: Negative Doubles

A A6 Board 5: Dealer North: NS vulnerable
v7 West North East South
¢ AK1102 1e 24 Dbl
+QJ1092 All Pass o
A975 AaQ42 o)
>
v98542 vKJ3 South’s double is a negative double, showing the two major 8
+Q986 ¢54 suits. With such good clubs and knowing the other cards are e
%5 *AK876 well placed, North is happy to convert the double to a penalty |
A KJ1083 bid by passing. g
vAQ106 -
(o]
+73 d
%43 @
HCP Makeable contracts e
| ¢ | v |a[NT )
15 N|4|4a|2]5]5
2 13 s|a]la|2|5]s
10 El-[-]-]-]-
wWl-1|-1|-1-1-
AJ53 Board 6: Dealer East: EW vulnerable
v1042 West North East South
¢432 1a 1v
KQ109 +Q753 A872 Dbl Pass 1a Pass b4
A A -]
4a All Pass 2
v K86 v5 8
#11097 *+AQ6 West bids a negative double to show spades and diamonds, so | &
*A9 +KJ1042 now E/W can bid on to game despite the interference by s
A64 South. &
vAQJ973 %
+K85 S
%86 a
HCP Makeable contracts a
s|loe|v]|a|NT )
3 N[-[-]-1-1-
13 14 S|-1-|-1-]-
10 E|5(5]|1]|5]3
W[5|5|1[5]3




BFP BC L12: Negative Doubles

AA54 Board 7: Dealer South: All vulnerable
va West North East South
+Q964 1v
*KQ1096 14 Dbl Pass 24 @
4KQ1098 A1762 Pass 5% All Pass 2
v104 vK8652 §
¢J75 ¢1032 The double by North shows the two minor suits. The club fit g
%A32 %8 has now been found and it is then a case of whether N/S will b=
A3 bid on to game or not. %o
vAJ973 &
¢ AK8 A}
*)754 a
HCP Makeable contracts e
o |v|a|NT )
13 N 5(3[-1]2
10 4 S 5(13-12
13 E -0 - -
Wi O I I
AJ9 Board 8: Dealer West: Love all
vAQ1057 West North East South
¢+QJ105 14 2w Dbl Pass
*Q8 3% Pass 44 All Pass b4
AAQ1063 AK42 s
>
v53 vKa The double by East indicated the minor suits. Although a 4-4 8
*K3 ¢ A986 club fit was found, East realises that West must have five o
%KJ95 *A1072 spades for this bidding sequence so can now bid to game. s
A875 oy
v1862 z
742 b
2643 a
HCP Makeable contracts a
w|o|v|a|NT )
12 N -0 - -
13 14 S - -
1 El6|4]|1|6]6
wiela|1]|6|6




BFP BC L12: Negative Doubles

A8 Board 9: Dealer North: EW vulnerable
vAI876 West North East South
¢ A7 1w 1a 3NT
*Q765 All Pass o
A54 AAQ632 ]
vKQ1042 v93 South would like to double 1a for penalties, but it would be a §
+Q85 4432 negative double in this situation, so has a punt at 3NT instead. e
%983 K102 =
AKJ1097 oy
v5 i
+K1096 -
*AJ4 a
HCP Makeable contracts e
S| | v |[a|NT [+
12 N[5|4|3|4]|4
7 9 S|5|4|3|4]4
12 Ef-|-|-|-]-
wWl-1|-1|-1-1-
A54 Board 10: Dealer East: All vulnerable
vKQ104 West North East South
+Q875 1v 14
%943 All Pass o
a97 A KJ108 s
v52 VAI876 West passes 14 because he is weak. If East bids on E/W may Qg
4110962 *A end up in trouble. g
%QJ85 &A76 =
AaAQ632 by
v93 z
+K43 b
®K102 2
HCP Makeable contracts a
w|o|v|a|NT )
7 N[-[1]-]1]1
4 17 S|-]1]-]1]1
12 E -l -
wWl1l|-]1]-]-




BFP BC L12: Negative Doubles

a73 Board 11: Dealer South: Love all
vAl106 West North East South
*J8 14
*K8754 36 Dbl Pass 4w @
AJ6 $Q842 A” Pass o)
v97 v854 §
¢ AK10942 ¢ Q53 North’s double is a negative double, showing the two unbid e
%AJ3 %1062 suits. North can now bid game in hearts because South must s
A AK1095 have 10+ HCP to compete at the 3-level. g
vKQ32 =
+76 o
£Q9 @
HCP Makeable contracts e
| ¢ | v |a[NT )
9 N[3[]-[a]3]-
13 4 S|13|-[4]3] -
14 E|l-]2]-]-]1
Wl-[2]-]-]1
A AQ986 Board 12: Dealer West: NS vulnerable
via West North East South
¢105 le 14 Dbl Pass
+Q1057 2y Pass 3v Pass b4
4752 4143 4v All Pass §
vAQ32 v K865 8
¢ AKQ76 ¢+ East’s double is a negative double, showing the two unbid g
%3 %AJ532 suits. West can now bid hearts, East with 10 HCP invites game s
AK10 and West with 15 HCP accepts the invitation. %o
v 1097 -
(o]
498432 !
*K64 2
HCP Makeable contracts a
slolvw|a|NT o
9 N[-[-]-1-1-
15 10 s|-|- - -
6 E 3(a|-]2
wl1[3|a]|-]2




BFP BC L12: Negative Doubles

A K5 Board 13: Dealer North: All vulnerable
vKJ76 West North East South
¢AJ632 1e 1a Dbl
A 10974 = AAQ863 24 3Y Pass v ¢
Q2
vAS3 vad All Pass é
+Q98 ¢1074 South’s double is a negative double, showing the two unbid e
%1092 K53 suits. North is strong enough to bid hearts over the spade s
aJ2 interference and South with 10 HCP raises to game. g
v Q1092 5
¢ K5 A}
*A8764 a
HCP Makeable contracts e
S| | v |[a|NT [+
15 N[3|a|a]|-]|1
6 9 S|13(4]4]-1]1
10 Ef-|-]-]-]1-
wWl-1|-1|-1-1-
A9763 Board 14: Dealer East: Love all
v 1064 West North East South
+Q84 1e 14
%1052 Dbl Pass 2y Pass b4
4A4 418 49 All Pass §
vKQ52 vA973 8
*J6 ¢ AK753 West’s double is a negative double, showing the two unbid g
%KJ343 %96 suits. East can now bid hearts and West has more than enough s
4KQ1052 to raise to game. %o
vJ8 S
41092 A
*AQ7 a
HCP Makeable contracts a
w|o|v|a|NT o
2 N[-[-]-1-1-
14 12 S| - - - -
12 E[5|a]5|2]2
w|s|la|s|2]2




BFP BC L12: Negative Doubles

AJ83 Board 15: Dealer South: NS vulnerable
vJ7 West North East South
¢ K743 1v
Q974 +KJ104 . 14 Dbl Pass 2w @
e}
vK52 v964 All Pass §
¢J8 ¢Q1052 North’s double is a negative double, showing the two minors. e
% A95 +Q82 South does not have support for either minor so simply b=
AA2 repeats hearts to show the 5-card suit. g
vAQ1083 =
¢ A96 e
%763 @
HCP Makeable contracts e
| ¢ | v |a[NT )
9 N|2|2|2]-
13 4 S|12|2(2]|1
14 El-[-]-]-]-
wWl-1|-1|-1-1-
AJ10 Board 16: Dealer West: EW vulnerable
vAQJ982 West North East South
+843 1a 3 Dbl 4
+A10 5e¢ All Pass b4
AKQ764 A A5 o)
v53 vK6 East’s double is a negative double, showing the two minors. Qg
+KQ62 ¢ AJ107 West is strong enough to bid diamonds over the heart o
Q38 +K9743 interference and East raises to game. s
A9832 oy
v1074 i
495 S
*)652 2
HCP Makeable contracts a
s|loe|v]|a|NT )
12 N|-]|-[1]-]-
12 15 S|-]-[21]-]-
1 E|3[5]-]4]2
W[3|5|-[4]2




